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Problema Nº 1: 

 

a  = (- 2 ; 3) 

b  = ( - 5 ; -3)                                 v =a - b  + 2. c  = ? 

c  = (1 ; -3) 

 

a) Resolución Analítica:                                                    

                                                                                             

   a  = ( -2; 3) 
+ 

  - b  = (5 ; 3) 

+ 

   2.c = (2 ; -6) 

                                                                                                                                                   

 

    v  = (5 ; 0) 

 

b) Resolución Gráfica: 

 

 

 

 

 

 



Problema Nº 2: 
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1x∆ = (xf- x i ) = v 1  . ∆ t 1                                    2x∆ = v 2 . ∆ t 2      

(xf- x i ) = v 1  . (tf - ti)                                       (xf- x i ) = v 2 . (tf-  ti)   

(xf-0)  = 80 km / h . (tf - 9 h)                         (xf - 400 km) = - 80 km/h (tf - 8 h) 

xf = 80 km/h . tf - 720 km                                 xf = -80 tf + 640 km + 400 km 

 

 

a)    Igualando xf (Posición final) para ambos vehículos: 
 

80 km/h .  tf -  720 km = - 80 tf + 640 km + 400 km 

               160 km /h . tf = 720 km + 640 km + 400 km  

                                  tf = 
160

1760
 h                                         

 

  tf  = 11 h       

 

b)                   xf = 80 km/h . 11 h – 720 km 

 

     xf =  160 km          

 

c) 
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Problema Nº 3: 

 

v 0 = 30 m/s 

 

a) vf
2
= vi

2
- 2 . g ∆ y                     vf = 0 
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  ⇒    y∆ =  45, 91 m 

 

 

b) vf = v0 - g . ∆ t 
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c) y = v 0  . t - 2
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 g t 2  
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2
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 . g . t 2  - v 0  . t + y 
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                    a = +  4,9 

                                                              b = - 30 

 

                                                              c = + 20 

 

t1 , t 2 = a2
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                                t1= 0,76 s                      t 2 = 5,36 s 

 

 

 



Problema Nº 4: 

 

a)    

                                   
 

b)  

     
 
P 2 sen 60º -  m1    = m2 . a 

 

     P 2 . sen 60º = a (m 1  + m 2 ) 
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                                a = 1,41 m/s 2  

 

 

 

 

 

a.mf 1x =Σ  

 

   t = m a.1  

 

 

 

 

a.mf 2x =Σ  

 

P 2 . sen 60º- T = m 2 . a 

 



 

Problema Nº 5: 

 
m = 2 kg 

 

a) 
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      Ec
2
  =   196 J   
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c)   

     W fr = ∆Emec = E
3
- E

2
 fr= M. N               N = m.g 

 

   fr. ∆ x . cos 180 = E
3
- E

2
 fr = 0,1 . 2 kg. . 9,8 m/s

2
 =  1,96 N 

 

- 1,96 N . 50 m + 196 J = E
3
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